TemBreak @ TERASAKI

Innovators in Protection Technology
J—k1—X7L—7
IIREREAE
Instruction Manual for

Moulded Case Circuit
Breakers

ExX (Types)
S1250-NE S1250-GE
S1600-NE

AHAER,CFERICEDZADSF L TATIMRELTTF IV ABIOENTOEVERL,
RUBESI-BIRWNCE->TECZBEICEL B IE—BETEEVE A,

Please retain this manual for future reference.The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application of the
instructions provided herein.

TFIEBSERAN\TSRL

T547-0002 ABRATFEHFXMERT-2-10
EEE 1 06(6791)9320

777X 06(6791)9274

F’— L= http://www.terasaki.co.jp

TERASAKI ELECTRIC CO., LTD.

7-2-10 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL:81-6-6791-9323/ FAX:81-6-6791-9274
URL : http://www.terasaki.co.jp

E-mail : kiki-info@terasaki.co.jp E-mail : int-sales@terasaki.co.jp

2G0824SAA (KRB-0581)

N ReEDIEE

WL fEE R ARDRI, L TARBEZDMO M BB HHEATEX BROHHE, KL DIE
B ERCEBEENS TCBRLTALSIBL TV, COBIRSAE CIL, XL I BEED
S kR GEBIELTRALTHVET,

[ABRR]: B # 225 - 15 A1 BRI RS B 2 T BT E /4 13 B84 21 5 A 8D
HEINBHEE,

TBRVWEES A B BRERAPRBYVA T, FRENCESXEEEZTS
AEEMS BESh BI8E,

58, ICRELAEETH KRS TR EALRBRICHEU DUBEY HIET,
WENLEELRETT O TBTTF->TFEL,

WETENEIE (BIICHELEIBOFMATEIEHL4O5TZBBLTTEL.)

AFE

BERIHEFERE (BRIEL) HFToTFE,

O E.Z T BENER BEREMHX IR FELERERBICHELEVTTFIVL,
KKEDERELE 1) EEICEELEVWEZNDI H)ET,

@I, O VUMM BEEDENRUORMAKEEN TL—HASLICASEVEIIC
BILTTFIW, KKEDERRE LS, REIEDEZNN HNET

@ LIEE, ERITL—h5EEO (OFF) ICL, TEL TWEWIEERERL TIT> T T AL,
BEDBZINDHIET,

Q4B TL—HDIHE 3HEMHEXDOPERELINBICERHLTTIV, BERT
B TICASKDRERELNET,

@i T 1 UISHZEERF ML TREERICH M T TT IV AKDERELNET

@ T UDKET IR R UK, IG T ERICEIB L H
MHSENESICLTTFEV IR TFHADBRBIEAE,  #7-
KEDBZND HNET

OEEK ITL—HERBAUOEEHRREE, TL—DHikE
FTLTHBLTT IV TNV 7P REBESN ORISR EAL, g T —T%T
URF/N)TEELEDETHZL TT IV A2 LERIEEREETIHEZNIHIET,

@ 7 — VAR OUE ISP BNWTT —7 AN—Z (Mg EEE) £+ DERLTT W, R T
EHEVEEDHYET,

HERENER

A\ fEk%
@ FEICHN L WT TV, BEDHEINIHIET,
A FEE
@EHHICN YT GERT) L2581, EEERVERVTHASNRILE | (ON)ICLT

Taw, XER ERER) EEMULABZEE, TL—DERBRLTTIV, KKED
BN HNET,

WFT - RREDER

AEER
O1R<F- AR EPIHBERTHAPToTTEL,
OR5F R, I TL %580 (OFF) LK BL TV W ZEEREBL TIT> T T,
BEDBIWIHIET,
@i T LU EEIBER (LY THUEOL TTEV KKORELLYET,

HZOMOEE

c[AREED)-FREF> THBEFLEVT TV BEORRELNET,

c TL—HDFEGOHN— R EVT T, MEEE REERIECEE LA,

CTL—AICERT TR BHIERERICEL A HARDOODEFEAL TTEL,
WEES NSV E RBEBERVBHAD BTN HIET,

[1] Safety Notices

Be sure to read these Instructions and other associated documents accompanying the

product thoroughly to be familiarize yourself with the product handling, safety information, and
all other precautions before mounting, using, servicing, or inspecting the product. In these
Instructions, safety notices are divided into "Warning" and "Caution" according to the hazard
level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property damage.
Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

HMounting Precautions
(For detailed mounting dimensions, refer to the TemBreak2 catalogue.)

A\ Caution

@Electrical work should only be undertaken by suitably qualified persons.

@Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and
rainwater from entering product. These materials inside the product could cause a fire
or malfunction.

@Prior to commencing any work on the product, open an upstream circuit breaker or isolator to
ensure that no voltage is applied to the product. Otherwise, electrical shock may result.

@For 4-pole breakers, be sure to connect a neutral conductor to the N pole. Otherwise, an
over-current may hinder the product from tripping, thus resulting in a fire.

@When connecting cable or busbar to the product, tighten terminal screws to the torque
specified in this manual. Otherwise, a fire could result.

@Even when tightening the terminal screws and B raano o
after conductor connection, do not apply excessive gf,ggf;E%%ﬂ = E E
force to the terminals. Otherwise, a fire may result. on on

@For front-connected breakers, Insulate all bare
conductors of the line side until the breaker end. If interpole barriers are packed, be
sure to use the barriers; moreover, insulate all bare conductors by insulating tape or the
like so that the tape overlaps with the barriers. Insufficient insulation may result in short-
circuit.

@Do not block the arc gas vents of the product to ensure adequate arc space. Blocking
these vents could result in failure of circuit interruption.

or
insulating tape

MHandling Precautions

/A\Warning

@Never touch terminals. Otherwise, electric shock may result.

A\ Caution

@When the breaker trips open automatically, remove the cause, then return the
handle to the |(ON) position. Should a fault be interrupted, the breaker must be
inspected. Otherwise, a fire may result.

HMaintenance Precautions

A\ Caution

@Service and/or inspection of the product must be done by persons having expert
knowledge.

@Before servicing or inspecting the product, open an upstream circuit breaker or the
like to isolate all sources of power. Otherwise, electric shock may result.

@Regularly check that the breaker terminal screws are tightened to torque values
shown within this manual, failure to do so may result in fire.

MOther Precautions

+ Do not carry this product by accessory leads, as this may cause damage to the
product.

+ Unauthorised opening of the breaker cover will invalidate product warranty.

+ When installing the product, use wires or conductors, the cross sectional areas of
which accommodate the rated current of the product. Using wires or conductors with
inadequate cross sectional areas may cause false tripping and overheat.

ABW—8 HYEELLEBIR Packaged ltems/Assembly Tools

iR FAAE

(F)

Instruction Manual : 1
(This document)

— JL—h., WF/INUT (FCDH)
] Breaker * . Interpole Barrier

(Only FC)
3p:2
4P: 3

/85 = Type
Connections/Poles ST250-NE, S1250-GE ST600-NE
w12 2
ST (FC) — M12X55 i M12X60 W

Front

Connected 3P 4 4
e M8X50 M : M8X50

& (RC) ig :é M12X47 12 M10X45 W
Rear ed w4 7
onnecte
— MBX50 M : MBX50 M
EA (PM) 3P| 4 _ 4 _
Plug-in Connected | 4p 4 4
3P| 12 12
waw ep) e Mz @R i w9
{\rere Applcable | 3P |4 4
ere Applicable
) M8X 25 PP 1 M8X 25 PP

+ S1600-NEIC ¥ FHEA )V MERBISh TV EE A, TEDHESIEKICLIRAML B EERLET,
+ Connecting bolts are not attached to S1600-NE. The above values is value when connecting bolts were orderd.

R{ELEIE Operating Instructions

Z
2

TRIPPED

j ,//’/////,,,

NIV
Handle
(ON)
Ry T RS T
O Trip Button S
(OFF) ¥
RESET
B N2 FIVEIEH
Operation Operation effort
O(OFF)= | (ON) 157N
| (ON)= O(OFF) 294N
TRIP= O(OFF) 343N

(4] NERfIBMmAMER  Fitting Internal Accessories

#BIZ1yF  Auxiliary Switch
MF M Type <‘ BB Type

T2AX00M *I T2AXOOB*F

B yF  Alarm Switch
MF M Type Bf% B Type

T2ALOOM *H T2AL00B *ﬂ

1) > < —7 Ring Mark
R v F BRI F
Auxiliary Switch Alarm Switch

ats biEs alEm | bR
a contact b contact | acontact | b contact

T1AYCT4AXa | TUAXCTZAXD | g1/aLc | 91/ALc
2UAXC20IAXa | ZAXGZUAD | - -
31IAXc-34AXa | 3T/AXc 32X | S¥ALa | S2/ALD

BESISL TREESISL
Shunt Trip Undervoltagie Trip EE5I9LER TREESIS LER
¥ ¥ Shunt Trip Undervoltage Trip
T2SHO0 D ToUV00 D power source power source
C1-C2 D1-D2
*TEROXES
* Symbols of Accessories
#HAE+¥  Combination THF5| & UEBDOALIE  Pull Out Leads on Load Side B4t L Removal

TR, DT ERICEFS B EEMHBL A, ZERAT IV,
« After fitting, verify the function of the Accessory.

ON ()
[
CRRTTIIN
S UL

==

1NN
|0

OFF (O}

ON (I}
2 WYy ] e
Ql
I
: B
® \—‘OFF[O) AX @] (o] [@] (0]

AL @l [0

X1y FE—DBT 132154, A4
(CEUFF TR,
In case of fitting only one
auxiliaryswitch, fit in left side slot.




EHEEET REEY - 1BAK
Conductor Connection Procedure for RC / F.P ( Where Applicable )

ARAES REKY - REH
Breaker Mounting Procedure for FC/ RC

= Q oM ST250-NE, STZ50-GE | ST600-NE
A $1250-NE S1600-NE S1250-NE S1600-NE M| 13mm 12mm
§1250-GE BUACRITY ST Ty Y ¢ RUAES NS WHDFET v S v #EBAL T A S, $1250-GE MT2X47 | M10X45
2G0824SAA (KRB-0581) ‘ -Insert the screw A into the spring washer and small flat washer, and tighten it. 40.2~65N'm | 225~37.2N'm

BEEER ZAK
Conductor Connection
Procedure for PM

BiERESE REY

Conductor Connection Procedure for FC

(6] AAFRAER AR
Breaker Mounting Procedure
for F.P ( Where Applicable ) 009~

@

O] BAREMART EAK

Plug-in Mounting Block Mounting Procedure for PM

¢S

R:I: I}I

77y¥aTL—b

%\
\
\
\
%
T e 1
.
| E
P
o= m

Flush Plate <505mm
T2FPX3% (S1250-NE, S1250-GE) <10mm
TOFPX6 % (81600 NE) 13mm S1250-NE, S1250-GE S1600-NE Q =45mm
g -BRBIORSHRL T —PBEETE TERL T T AL, (M2 MI2X50 _M‘O Rl <2b5mm
*:3 or4 (12 Poles) H *Insulate all bare conductors of theyTiIne side until the breaker end. 40.2~657N *m_ | 40.2~657N-m S| 13mm 40.2~65.7N-m
TABRAER EAY 12 W7/ PRAEE 3 BF 7B ER WY KNENE O S RHES 5 BRI LERETES

Breaker Mounting Procedure for PM

AARAA
Plug-in Base

T2PMX3
*:3 or4 (18%] Poles)

o[BS 5 F w8
11.8~14.7N*m

c AU IEE U OBFIBTITVE S,
* When removing, remove the items in reverse order of mounting.

Interpole Barrier
Mounting Procedure

Terminal Cover
Mounting Procedure

"t

@

o)

-

WFNYT
Interpole Barrier M3.5X10
T2BA40 % S 0.74~0.93N * m
*:3 or4 (1851 Poles) 16 BFHN—
Connection Terminal Cover

REW GRFN—1)
FC (with Flat Bar)

T2CFX3#*SLC

%13 or4 (B% Poles)

B LB OB FIETITWET,
*When removing, remove the items in
reverse order of mounting.

B LB DB FIETITVET,
*When removing, remove the items in
reverse order of mounting.

Handle Holder / Lock Mounting Procedure

)
s

NARIVEIVE /Ty7
Handle Holder/Lock

T2HLX6

®

=

max x3 (¢5~8)

SINCRIVFRIVE /By 7iE, | (ON),O (OFF) fLEDWTh THRTHITEET,

Handle holder/ lock can be fitted in any position of | (ON) and O(OFF).
NARNVAYTELTERYT 3 5ERODFIR TR EEERF I TT I,

*When you use this item as the handle lock, please fit padlocks in the procedure of 3.
B LGB OB FIETITWET,

*When removing, remove the items in reverse order of mounting.

Over-current Releases set

ting Procedure.

T

2001990 1209 100020 1400
™ 1250 )/ | 500 1600
0l ) (0l w0

o

™ Jay
B

BhfE45tERI%E Time / Current Characteristic Curves

THREB IS IREERRTE T, Under bar is

default setting.

EF:X  Electronic Type

~=1= Adjustable /g A:500,600,700,800,1000,1200,1250 (A)

B:700,800,900,1000,1200,1400,1500,1600 (A)
(:0.4,0.5,0.63,0.8,0.9,0.95,1 (xh) (A

56,7
028 3
018 \ \ ~
12! 3! |4
25 5 1014 xlj ] -




